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(10%) Please use words and draw a clearly-labeled graph to explain the concepts of “substitution

effect” and “income effect”.

~

(20%) Insurance is prevalent in developed countries and has become more and more important in

developing countries.

(1) From people’s view, why does insurance exist? Please explain the benefits of insurance in the
modern society. When there is no insurance product to buy, how do people in traditional societies
use other methods to get the similar benefits?

(2} From insurance companies’ view, what are the main problems they face before and after selling the
insurance to people? Please use economic terms to explain.

(3) How might National Health Insurance affect people’sibehavior? Please discuss potential impact on
people’s health behavior, labor supply,and other aspects. For each impact, please be specific about
the direction (increase or decrease on what behavior) you predict.
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(20%) Suppose a firm’s production function'is: g =

r=%$2
(1) Suppose the firm’s capital is fixed at K=10 in the short run. Please find the firm's average fixed costs,

variable costs, average total costs, and marginal costs as functions of q.
cisions in the long-run so that its amount of

K L?. The wage rate is w=%$4, and the rental rate is

(2) Now, suppose the firm is making its production de
tal is no longer fized. Please set up the optimization problem and solve for the amounts of K and

capil
L that minimize the firm’s cost of producing a given level of output, and use them to derive the
firm’s long-run cost function.
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